Date: Pd:

Unir 4, Seeron 7.— Sowurons CHemistiey

Solute; + Solvent! = E>“ci1ﬂtibm
' Substance SN
5“‘_\05‘-‘@ \QU:’W%— cl.ﬁueo?um%, wﬁg\,\uﬁu“
B v:a: H;0= whm «awu |
hondimere o £ - Can be,(S)m)(ﬂ)
L 1

= e 1Y

The ratio of _W‘?

to

the

Concentraﬂon is often written as brackets around the substance formula ;(Ex
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Concentration of Hydrochloric Acid - HCI can be written as [HCI]) Solubility, the ablllty of a substance
to dissolve at a given set of conditions, can also be affected by changes in —KA/\MD / Presoure

between the molecules of

because by changing this variable, you change the __ Spac2.
;so[vent allowing more or lessﬁoiﬁtéto be dlssolved between them.
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Solutions Practice: Ivent .
- Asolutionis made frol'l'.nd Water, Circle the solute. Draw a box around the solvent.

- Ifyou were to take an unsaturated solution and add more solute, what would happen to the
solute‘? D\ﬁf}OlV\L 3 b—&cohm Gahurawc!
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. BapIfEIMIEnd is usually read as “molar”. Therefore, a solution with alabel
that states “2.0M” may be called a “2.0 Molar” solution.

Practice: Show all wofk and round answers to the correct number of sig figs (or 2 decimai places)!
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2. Calculate the number of moles of NaCl contamed in 0.500L of a 1.5M solut:on _

O 75 mo\ Nac |

liony(Start with gram—mol)
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4. What is the molarity if 1.0°miol of KCI is'dissolved'in 750 0 mLiof soliition (1L = 1000 mL)'?
| \ 35 N\ KC\* Continue sv smr*c; orammwuhasm roG untit ai of the solute is dissoived.

M LAB - Make A Srock Sowuroy )

Goal: Make 50 mL of a 80 M CuCl, solution.
» 0.0 J
Pre Lab Questlons and Calculations:
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1. The solute in this labis_CiACl 2 and the solventinthislabis  Ha O

2. What formula is used to calculate molarity? /\/\ - wmol 5o\ub{—€,___ _ @
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3. Convert the volume (ISQ mL) to Liters. Borl L L




